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Question Number : 1 Question Id : 6801916302 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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0

1
680191152
Yes

null

Which of the following branch deals with morals, norms and values?

. Metaphysics

. Epistemology
3. Ethices

4. Aesthetics

b =

Options :

68019124701. 1
68019124702. 2
68019124703. 3

68019124704. 4

Question Number : 1 Question Id : 6801916302 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frafafad @ 9 & 91 f[aw Afdedr, AFesi R 9l 9 9aied g2
1. HeTth ey
2. TUeHI !
3. TUiYey
4, TRy
Options :
68019124701. 1
68019124702. 2
63019124703. 3

68019124704. 4

Question Number : 2 Question Id : 6801916303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Book/Theory {Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)

(A) |Shaikshik Gyan aur varchasva | (I) |Sadhna Saxena
(B) |Shiksha me badlav ke sawal | (II) |Krishna Kumar
(C) |Divaswapn {(III)|Anil Sadgopal
(D) |Shiksha avur jan andolan (IV | Gyjubhai Badheka

Choose the correct answer from the options given below:

(A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)
- (A) - (IV). (B) - (I). (C) - (I). (D) - (I1I)
4.(A) - (ID). (B) - (ITT). (C) - (IV). (D) - (I)

ba =

L]

Options :

68019124705. 1
68019124706. 2
68019124707. 3
68019124708. 4

Question Number : 2 Question Id : 6801916303 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fAre o3 -1 & 1Y g1
T 1 T
) $d)
(A) | AP T IR gdw (D) |81 Ga-T
(B) [fr&n & gacma & Tard D) [P FHAR
(C) |feare= | B ER R A
(D) |4 3R 5 sigiaA (V)| THTS S8aT
A= feu e fas el o 9 get 3w 1

1. (A) - ). (B) - (I). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (II1). (C) - (I). (D) - (IV)
3.(A) - (IV). (B) - (IT). (C) - (I). (D) - (II)
4. (A) - (IT). (B) - (III). (C) - (IV). (D) - (I)

Options :

68019124705. 1
68019124706. 2
68019124707. 3

68019124708. 4

Question Number : 3 Question Id : 6801916304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select the right combinations:

(A). Discovery of India - I. L. Nehru

(B). My Experiments with truth - M. K. Gandhi

(C). Annihilation of Caste - B. R. Ambedkar

(D). India wins freedom - Maulana Abul Kalam Azad
Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (A). and (B) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.



Options :

68019124709. 1
68019124710. 2
68019124711. 3

68019124712. 4

Question Number : 3 Question Id : 6801916304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (B) 3R (D)
2.%qd (A), 3R (B)
3. (A). (B). (C) 3R (D).
4. H4d (B), (C) AR (D)

Options :

68019124709. 1
68019124710. 2
68019124711. 3
68019124712. 4

Question Number : 4 Question Id : 6801916305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s an astik school of Indian philosophy?

1. Buddhism
2. Jainism

3. Samkhya
4. Charvak

Options :

68019124713. 1
68019124714. 2
68019124715.3

68019124716. 4

Question Number : 4 Question Id : 6801916305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 3 9 &F 91 YRy <29 § snfias s g o 8

1. 9%
2. 54
3. T
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Options:
68019124713. 1
68019124714. 2

68019124715. 3

68019124716. 4

Question Number : 5 Question Id : 6801916306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Nai Talim can be associated with:

1. Gandhi

2. Tagore

3. Krishnamurti
. Igbal

F=s

Options :

68019124717. 1
68019124718. 2
68019124719. 3

68019124720. 4

Question Number : 5 Question Id : 6801916306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T2 ey &l {7 4 WS ol 9&dl g

1. et

2. TR

3. poHfd
4. ZHETA

Options :

68019124717. 1
68019124718. 2
68019124719. 3

68019124720. 4

Question Number : 6 Question Id : 6801916307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in historical chronology

(A). Calcutta University Commission

(B). University Education Commission

(C). Macaulay Minutes

(D). Gokhale Bill

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (C). (D). (A)
.(B). (A). (D). (C).
.(C). (D). (A). (B).

e T

Options :

68019124721. 1
68019124722. 2
68019124723.3
68019124724. 4

Question Number : 6 Question Id : 6801916307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ufaee Srasd § afeud &%

A. Sadl [dYfderad mnT
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C. H@Td e
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1. (A). (B). (C). (D).
2. (B). (C). (D). (A)
.(B). (A). (D). (C).
.(C). (D). (A). (B).

e o

Options:

68019124721. 1
68019124722. 2
68019124723.3

68019124724. 4



Question Number : 7 Question Id : 6801916308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who was the first Education minister of independent India?

. J. B. Kriplani

. C. Rajgopalachari

3. Noor-ul-Hasan

4. Maulana Abul Kalam Azad

Options:

b =

68019124725. 1
68019124726. 2
68019124727. 3
68019124728. 4

Question Number : 7 Question Id : 6801916308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Iqad HRd & Ugd e 5 e 90

1. S df. e

2. It IeFTITEER]
3. R-SATH
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Options :

68019124725. 1
68019124726. 2
68019124727. 3
68019124728. 4

Question Number : 8 Question Id : 6801916309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII
(Book/Theory (Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
(A) |Idealizsm (T} |A. N. Whitehead
(B) |Naturalism (II) |Dewey
(C) |Pragmatism (1T} |R.ouessau
(D) |Eealism (IV)|Plato

Choose the correct answer from the options given below:

1. (A) - (IV). (B) - (II1). (C) - (I1). (D) - (I)
2. (A)-(I). (B) - (I). (C) - (III). (D) - (IV)
3. (A) - (1), (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019124729. 1
68019124730. 2
68019124731.3

68019124732. 4

Question Number : 8 Question Id : 6801916309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ERIGERE: 18 GV ci8
T 1 I
(@ aETed Rrgia AT, anﬁ)(ﬂ'@wﬁaw% 1 7, 3113
(A |smeziaE ) |T T ®RES
(B) |Udpfdarg (ID |Std
(C) |mararg (I [F=gt
(D) [zurdar (V)| wiEl
= feu e foe el o 9 get 3w 1

1. (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
2. (A) - (I). (B) - (I). (C) - (ITI). (D) - (IV)
3. (A) - (1), (B) - (IIT). (C) - (IV). (D) - (I)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)



Options :

68019124729. 1
68019124730. 2
68019124731.3
68019124732. 4

Question Number : 9 Question Id : 6801916310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

University Grants Commission was established in the year:

1. 1966
2. 956
. 1976
4. 1952

Options :

L]

68019124733. 1
68019124734. 2
68019124735. 3
68019124736. 4

Question Number : 9 Question Id : 6801916310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Eyfa=Tera ST SIRT &1 RITGAT fod ay i 7T

. 1966
. 1956
. 1976

4. 1952
Options:

| R

L]

68019124733. 1
68019124734. 2



68019124735. 3

68019124736. 4

Question Number : 10 Question Id : 6801916311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not Kosha as in panchkosh of Aurobindo?
(A). vijnanmay

(B). anandmay

(C). sukhmay

(D). santoshmay

Choose the correcr answer trom the options given below:

. (A) and (D) only.
. (A). (B) and (D) only.
.(A). (B). (C) and (D).
.(C) and (D) only:.

I =

e g

Options:

68019124737. 1
68019124738. 2
68019124739.3

68019124740. 4

Question Number : 10 Question Id : 6801916311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A) 3R (D)
2.ad (A). (B) 3R (D)
3. (A). (B). (C) 3R (D)
4.%dd (C) 3R (D)

Options :

68019124737. 1
68019124738. 2
68019124739. 3

68019124740. 4

Question Number : 11 Question Id : 6801916312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
(Book/Theory ({Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
(A) |Functionalizsm (T) |Bertanlantfy
(B) |Svmbolic Interactionism (IT) |Marx
(C) |Conflict theory (1) | Durkheim
(D) |Open Systems theory (TV)|Weber

Choose the correer answer from the options given below:

- (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
- (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
. (A) - (ITT). (B) - (IT). (C) - (I). (D) - (IV)
4.(A) - (IV). (B) - (). (C) - (II). (D) - (II)

| R

L)

Options :

68019124741. 1



68019124742. 2
68019124743. 3

68019124744. 4

Question Number : 11 Question Id : 6801916312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ERICERE: 18 CaUE Cil i
A1 T
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1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (IV). (C) - (I). (D) - (I)
3. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)
4. (A) - (IV). (B) - (I). (C) - (III). (D) - (II)

Options:

68019124741. 1
68019124742. 2
68019124743.3
68019124744. 4

Question Number : 12 Question Id : 6801916313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the mcorrect ones:

(A). Education helps in vertical mobility.

(B). Caste facilitates social mobility.

(C). Girls' education is a loss to public exchequer.

(D). NEP 2020 promotes education by private philanthropic mstitutions.
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B) and (D) only.

Options :

68019124745. 1
68019124746. 2
68019124747. 3
68019124748. 4

Question Number : 12 Question Id : 6801916313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Tdd &1 99 Dy
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1. %ad (A). (B) 3R (D)
2. %ad (B) 3R (C)

3. (A). (B). (C) 3R (D)
4. %ad (B) AR (D)

Options :

68019124745. 1
68019124746. 2
68019124747. 3
68019124748. 4



Question Number : 13 Question Id : 6801916314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every student of B.Ed must study philosophy of education because:

. 1t helps in passing the exam.

. 1t helps in reflecting on one's own classroom teaching.
. 1t helps to understand social dynamics of education.
4. it makes teacher to sound intellectual.

b =

L]

Options :

68019124749. 1
68019124750. 2
68019124751.3

68019124752. 4

Question Number : 13 Question Id : 6801916314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl. US. & Ud® O Bl [R1&71-520 BT 3y D1 A1y Hiieh:
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Options:

68019124749. 1
68019124750. 2
68019124751. 3
68019124752. 4

Question Number : 14 Question Id : 6801916315 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange in historical chronology

(A). Operation Blackboard

(B). National Literacy Mission

(C). Sarva Shiksha Abhiyan

(D). Right to Education

Choose the correct answer from the options given below:

1. (A). (B), (C). (D).
2. (D). (C). (A). (B).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019124753. 1
68019124754. 2
68019124755. 3

68019124756. 4

Question Number : 14 Question Id : 6801916315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C), (D).
2. (D). (C), (A). (B).
.(B). (A). (D). (C).
(C). (B). (D). (A).

e g

Options :

68019124753. 1
68019124754. 2
68019124755. 3



68019124756. 4

Question Number : 15 Question Id : 6801916316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange as in a lesson plan

(A). Homework

(B). Specific Aims

(C). Recapitulation

(D). Content and Method

Choose the correct answer from the options given below:

1. (A). (B). (O), (D).
2. (D). (B), (A). (C).
.(B). (A). (D). (C).
.(B). (D). (C). (A).

e o

Options :

68019124757. 1
68019124758. 2
68019124759. 3
68019124760. 4

Question Number : 15 Question Id : 6801916316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0% U136 ol & &4 H oIaiadd &9
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1. (A). (B). (C). (D).
2. (D). (B). (A). (O).
3.(B). (A). (D). (C).
4. (B). (D). (C). (A).



Options :

68019124757. 1
68019124758. 2
68019124759. 3
68019124760. 4

Question Number : 16 Question Id : 6801916317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Project Method was propounded by:

. Rousseall

. Locke

. Kilpatrick
4. Froebel

Options :

b =

L]

68019124761. 1
68019124762. 2
68019124763. 3
68019124764. 4

Question Number : 16 Question Id : 6801916317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aRarsI fafe feoge gr1 udrad @1 71 &t

Options :
68019124761. 1

68019124762. 2



68019124763. 3

68019124764. 4

Question Number : 17 Question Id : 6801916318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Corporal punishment still exists in our schools because:

1. Teachers are still to realize its demerits and futility
2. Students cannot be disciplined without it.

3. It helps in high academic achievement.

4. 1t helps in knowing mdividual difference of students.

Options :

68019124765. 1
68019124766. 2
68019124767.3

68019124768. 4

Question Number : 17 Question Id : 6801916318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019124765. 1
68019124766. 2
68019124767. 3

68019124768. 4



Question Number : 18 Question Id : 6801916319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Raag Darbari - a satirical novel on education system is written by:

1. Suryakant Tripathi Nirala
2. Mahadevi Verma
. Rahi Masoom Raza

. Shrilal Shukla
Options:

Taa

e

68019124769. 1
68019124770. 2
68019124771. 3
68019124772. 4

Question Number : 18 Question Id : 6801916319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
AT RERL FR1a Woell IR Us sdvardd 3uary [ gR1 forar man g
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2. Helcadl gdl

3. M5 AgH I
4. gieiret Yo

Options :

68019124769. 1
68019124770. 2
68019124771. 3
68019124772. 4

Question Number : 19 Question Id : 6801916320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

According to Spearman. individual differs on the basis of :

. s factor

. g factor

. s factor and g factor both
4. Primary mental abilities

| I

L]

Options :

68019124773. 1
68019124774. 2
68019124775.3

68019124776. 4

Question Number : 19 Question Id : 6801916320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TiREH & SR, oafdd Fafifad sroil 9 fird giar e:

1. T BRP

2. Sl HRD

3. T R 3R ot HRS gHI
4. YU AR &Eand

Options :

68019124773. 1
68019124774. 2
68019124775. 3
68019124776. 4

Question Number : 20 Question Id : 6801916321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Let] List-II
Categories of Product dimension o
of 81 Model of Guilford P

v e Conversion or mutations to

(A) [Units M knc:-wlze:lge ;

(8) |Relations () A zet forms t.hat share some
common attributes

(©) |Classes am) _Re‘preser}ts a single item of
mtormation

" i : | Represents a connection

(D) Transformations av) between ttems or variables

Choose the correct answer from the options given below:

- (A) - (D). (B) - IV). (C) - (I). (D) - (I1T)
. (A) - (IIT). (B) - (IV). (C) - (II). (D) - (I)
. (A) - (ID). (B) - (IV). (C) - (III). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

b

L)

Options :

68019124777. 1
68019124778. 2
68019124779.3

68019124780. 4

Question Number : 20 Question Id : 6801916321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ERIGERE Cif A IUE Cili}

Frewls & TH. oS, Alsd &

SIS SHTaTH Y AT I -1 R

(&) [zHrgat @ |3 o gfvacH a1 fd=eq
U6 T4 TU A 5D

(B) [Ty an |amEa [aeearst & 9rEn
G

© ot ) wmm% P 1

©) |aRad aw) ;ﬁm”mﬁﬁf .

4 fqu e faedl & 9 Wl SR a1

L. (A) - (). (B) - (IV). (C) - (I). (D) - (III)
2. (A) - (II). (B) - (IV). (C) - (IT). (D) - (I)
3.(A) - (I). (B) - (IV). (C) - (IT). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019124777. 1
68019124778. 2
68019124779. 3

68019124780. 4

Question Number : 21 Question Id : 6801916322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following i1s NOT a group verbal Intelligence test?

1. Army General Classification Test
2. General Mental Ability Test

. Army Alpha Test

4. Benet-Simon Tests

s

Options :

68019124781. 1
68019124782. 2
68019124783.3
68019124784. 4



Question Number : 21 Question Id : 6801916322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad & 3 o4 o 9gg 0fae gfema w8 g &2

1. 37} g arffevor gdem
2. WHT-Y AR & URI&01
3. 3MTHT 3T Tiem
4, Se-gIea W&

Options:

68019124781. 1
68019124782. 2
68019124783.3
68019124784. 4

Question Number : 22 Question Id : 6801916323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT among the important traits as identified by Allport?
(A).Secondary traits

(B).Source traits

(C).Super traits

(D).Surface traits

Choose the correct answer from the options given below:

1. (A) and (C) only.
2. (A). (B) and (D) only.
3.(B) and (D) only.
4. (B). (C) and (D) only.

Options :

68019124785. 1
68019124786. 2
68019124787. 3

68019124788. 4



Question Number : 22 Question Id : 6801916323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafaRad @ 9 19 91 Siiquic gR1 ugdm 10 Gecaqul a&r J 9 981 87

A, f5dae® e
B. 9id @&
C. YU &I
D. dde! &0
- feu e fas el O 9§ 981 S I |

1. %ad (A) AR (C)
2.%ad (A). (B) 3R (D)
3. ®dd (B) 3R (D)
4.%dd (B). (C) AR (D)

Options:

68019124785. 1
68019124786. 2
68019124787.3

68019124788. 4

Question Number : 23 Question Id : 6801916324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many dimensions does Structure of Intellect Model have?

. 150
. 180
120

4. 170
Options :

| I

Taa

68019124789. 1
68019124790. 2

68019124791. 3



68019124792. 4

Question Number : 23 Question Id : 6801916324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
difGe® Arsd B WFH1 & fova 3 82

. 150
. 180
. 120
4.170

Options :

2 =

L]

68019124789. 1
68019124790. 2
68019124791. 3

68019124792. 4

Question Number : 24 Question Id : 6801916325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements related to teaching:
(A).Teaching is expressed in the form of shaping habits.
(B).Teaching involves instruction

(C).Training 1s a part of teaching

(D).Teaching can also occur without indoctrination.
Choose the correct answer from the options given below:

.(A). (B) and (D) only
. (A). (B) and (C) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Ia =

L]

Options :
68019124793. 1
68019124794. 2

68019124795. 3



68019124796. 4

Question Number : 24 Question Id : 6801916325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R1e/01 O G&ed 9ol YAl &1 gd- B

A. T80T 1 3edl &1 PR 31 & ¥4 § oad Parar g
B. i & Fm wfa g1
C. U e PTUS e e
D. e fe= 1 garigur & +ft 8t &l § |
-9 feu e fad el T 9§ 981 SR I |

1. %ad (A). (B) 3R (D)
2.%ad (A), (B) 3R (C)
3. (A). (B). (C) 3R (D).

4.%dd (B). (C) AR (D)

Options :

68019124793. 1
68019124794. 2
68019124795. 3

68019124796. 4

Question Number : 25 Question Id : 6801916326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements related to temperament:
(A).Temperament is partly physical and partly mental
(B).Personality of a person depends on his'her temperament
(C).Climate doesn't affect our temperament

(D).Mood, when becomes permanent. influences our temperament
Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019124797. 1
68019124798. 2
68019124799. 3
68019124800. 4

Question Number : 25 Question Id : 6801916326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WHIG Y YsiSd ol YA BT 99 D

A. TG s =9 IRIRS 3R 31ifie ©u 9 amfie giar g
B. Tfad &1 Afddd 39 WHId IR AR a8l

C. STeTaTg AR THIT BT T el Bt 8

D. OId YRUT T 81 STl § dl 98 SHR WHG DI WHIfad Sl 8

- feu T fodedl & 9§ 95l SR A |

1. %ad (A). (B) 3R (D)
2.%qd (A). (C) 3R (D)
3. (A). (B). (C) 3R (D).

4.%ad (B). (C) 3R (D)

Options :

68019124797. 1
68019124798. 2
68019124799. 3
68019124800. 4



Question Number : 26 Question Id : 6801916327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of first four steps mvolved in microteaching cycle:
(A).Replan

(B).Plan

(C).Feedback

(D).Teach

Choose the correct answer from the options given below:

1. (B). (D). (C). (A).
2. (B). (D). (A). (C).
3.(B). (A). (D). (C).
4. (C). (B). (D). (A).

Options:

68019124801. 1
68019124802. 2
68019124803. 3

68019124804. 4

Question Number : 26 Question Id : 6801916327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hrsh! I I | Qi Uge IR =R0M $I Hel 3(HH H Tl
A. G e
B.
C. BIsd®
D. AN

- feu T fodedl & 9§ 95l SR A |

1. (B). (D). (C). (A).
2. (B). (D). (A). (C).
3.(B). (A). (D). (C).
4.(C). (B), (D). (A).

Options :



68019124801. 1
68019124802. 2
68019124803. 3

68019124804. 4

Question Number : 27 Question Id : 6801916328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a phase of teaching?

1. Pre-active
2. Active

3. Interactive

4. Post-active phase

Options :

68019124805. 1
68019124806. 2
68019124807. 3

68019124808. 4

Question Number : 27 Question Id : 6801916328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 5 T o a1 fRreor &1 == 98 82

1. ga-fsha
2. Tiepg
i~
4. Fichd (a1 P G914
Options :
68019124805, 1
68019124806. 2

68019124807. 3



68019124808. 4

Question Number : 28 Question Id : 6801916329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of steps involved in simulated teaching:
(A).Conducting practice session

(B).Selection and discussion of the skills

(C).Deciding the procedure of evaluation

(D).Selection of small group of student teacher

Choose the correct answer from the options given below:

1. (A). (C). (B). (D).
2. (B). (D), (A), (C).
(D). (B). (C). (A).
4. (C). (B). (D). (A).

iz

Options :

680191248009. 1
68019124810. 2
68019124811.3
68019124812. 4

Question Number : 28 Question Id : 6801916329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R e & zfiver =Rofl o1 98 59 |

A. T T BT HITEH

B. BI2Id &1 gA1d 3R =4

C. Gehieh=1 Dl Uichdl 0 Sl

D. 914 &/ & I g BT I1d

- feu e fdsed & 9§ el SR I |

1. (A). (C). (B). (D).
2. (B). (D). (A). (O).

3. (D). (B). (C). (A).
4. (C). (B), (D), (A).



Options :

68019124809. 1
68019124810. 2
68019124811.3
68019124812. 4

Question Number : 29 Question Id : 6801916330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mam purpose of this skill through microteaching is to increase student's participation.

Identify the skill.

. Skill of Explaming

. Skill of remforcement
1
1

faa 0

. Skill of using audio-visual aids
4. Skill of illustrating with examples

Options :

68019124813. 1
68019124814. 2
68019124815. 3

68019124816. 4

Question Number : 29 Question Id : 6801916330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TTSeh! i & HIEH 9 59 DINT 1 G0 3e.0 BF & HINGR] 96HI g | HIRIE B
UgdH DY

1, SRS H3 B I

2. JETH P IR

3. TX0-Y TIHE] B SUUN B &1 PITd
4. TSTEX & 1Y &0 - ST DA

Options :

68019124813. 1



68019124814. 2
68019124815. 3

68019124816. 4

Question Number : 30 Question Id : 6801916331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a content of maxims of teaching?

1. Concrete to abstract

2. Psychological to logical
3. Particular to general

4. Definite to indefinite

Options :

68019124817. 1
68019124818. 2
68019124819. 3

68019124820. 4

Question Number : 30 Question Id : 6801916331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
frafarad o 9 o a1 e &1 Rgid 761 82

gd 9 ab
ﬁgamﬁw%aa

3. g fauy d%
4, Oifd I edifgg a%

Options :

68019124817. 1
68019124818. 2
68019124819. 3

68019124820. 4



Question Number : 31 Question Id : 6801916332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s NOT a teaching style?

1. The developing style
2. The directing style

3. The delegating style
4. The discussing style

Options :

68019124821. 1
68019124822. 2
68019124823.3
68019124824. 4

Question Number : 31 Question Id : 6801916332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

fFrafafad | 9 o i e 2t 161 82

1. fa@rg et

2. fa=H et

3. WcTgTor Qict
4. TGt B DI LAt

Options :

68019124821. 1
68019124822. 2
68019124823.3

68019124824. 4

Question Number : 32 Question Id : 6801916333 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List-I List-II
Concepts Meaning

Eefer to an internal disposition or

(A) | Temperament (D) e

(B) Defence () Fefer to those mental processes that are

77 |mechanism 7 |not easily available to the individual
Fefer to a process that protects the

(C) | Trant (IIT} | person from breaking down in the
conflict

(IV).Refer to general tendencies to feel

(D) |Unonsciousness  |(IV) . :
or act in particular ways

Choose the correct answer from the options given below:

L. (A) - (IV). (B) - (IIT). (C) - (I). (D) - (II)
2.(A)- (). (B) - (). (C) - (IV). (D) - (I)
3. (A) - (III), (B) - (II). (C) - (AV). (D) - (I)

4. (A) - (IID). (B) - (IV). (C) - (D). (D) - (II)
Options:
68019124825. 1
68019124826. 2
68019124827. 3
68019124828. 4

Question Number : 32 Question Id : 6801916333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ESIBETE il CSIUE Gl

[ -1 SEURMY 111 T Y

(A) |TuE (1) |3ifafi® wWyd 71 o &3 &1 wufear &1 Hey

(B) [Tand=3 (In gt RS uidar S diad & o8 A 9 39ds el o
(C) | e | U ufsear S cafdd ol gad o ged O g4l 21

(D) | 3raadr (1V)|Taf2re il U HE Ty S 91 B ®id &I TE- Wgdi

2 R Tu Riopedi B & ol SR

1. (A) - (IV). (B) - (IIT). (C) - (I). (D) - (II)
2.(A) - (D). (B) - (III). (C) - (IV). (D) - (II)
3.(A) - (II). (B) - (I). (C) - (IV). (D) - (I)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019124825. 1
68019124826. 2
68019124827. 3

68019124828. 4

Question Number : 33 Question Id : 6801916334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following theories of personality in chronological order:
(A).Freud's Psychoanalytical theory of personality

(B).Catell's Factor theory of personality

(C).Allport's Trait theory of personality

(D).Maslow's heirarchy of needs

Choose the correct answer from the options given below:

1. (A). (D). (C). (B).
2. (D). (A), (C). (B).
3.(C). (D). (B). (A).
4. (B). (C), (A), (D).

Options :

68019124829. 1
68019124830. 2
68019124831.3

68019124832. 4



Question Number : 33 Question Id : 6801916334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfcicd & FEfeiRad il @1 SIerPEe $F ¥ oafeud o3

A. WIS & HAIGRAITES RIgid
B. Bicd Bl PR RIGId

C. JATeare &1 a&u gl

D. TG &1 SR=dl T 30

1 feu e fosedl § 9 el S T |

1. (A). (D). (C). (B).
2. (D). (A), (C). (B).
-(C). (D). (B). (A).
.(B). (C). (A). (D).

R ]

Options:

68019124829. 1
68019124830. 2
68019124831.3
68019124832. 4

Question Number : 34 Question Id : 6801916335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT among the fundamental principles of programmed instruction?

1. Principle of active responding

2. Principle of immediate confirmation
3. Principle of student testing

4. Principle of logical sequencing

Options:

68019124833. 1
68019124834. 2
68019124835. 3



68019124836. 4

Question Number : 34 Question Id : 6801916335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafed 8 Yo r-ar waReRna FEu & gu ek g 9= e

1. iy wiafdar &1 frsia
2. depTdl UfP &1 fgid
3. B GRI&01 &1 fHgid
4. A1 SIPHY & ISTd

Options :

68019124833. 1
68019124834. 2
68019124835. 3

68019124836. 4

Question Number : 35 Question Id : 6801916336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Suppose a man chanelizes his aggression into excelling in gardening, then he is using which type
of defence mechanism?

1. Regression
2. Repression
3. Sublimation
4. Projection

Options:

68019124837. 1
68019124838. 2
68019124839. 3

68019124840. 4



Question Number : 35 Question Id : 6801916336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T i fd U o (T SMPTHE S R & ST § S vl WK G- & i
AT B, 11 9 54 UOR & 81 77 BT U0 IR G o7

1. §iamH
2. qH1

3, 3ANG
4. JeIquy

Options :

68019124837. 1
68019124838. 2
68019124839. 3

68019124840. 4

Question Number : 36 Question Id : 6801916337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List-I List-1I
Terman's Classification L.Q.
{A) |Imbeciles {I) |80-90
(B) |Dull (II) |50-70
(C) |Idiots (IIT)|25-50
(D) |Morons {IV)|below 25

Choose the correct answer from the options given below:

(A)-(I). (B) - (III). (C) - (IV). (D) - (II)
(A) - (II). (B) - (I). (C) - (IV)), (D) - (1II)
(A) - (). (B) - (I). (C) - (IV). (D) - (II)
(A) - (IV), (B) - (I). (C) - (IIT), (D) - (IT)

fas b2 —

=

Options :
68019124841. 1
68019124842. 2



68019124843. 3

68019124844. 4

Question Number : 36 Question Id : 6801916337 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e &Y i1 SR gl

-1 TH= e -1 3MTS. T |
(A) [faféra @0 |80-90

(B) [3erdH (1D |50-70

(©) | (1my|25-50

o) [ aE av)|2s G N

=i feu U fd@ el O 9 96l S I |

(A) - (D). (B) - (III). (C) - (IV). (D) - (II)
(A) - (D). (B) - (1) (C) - (IV). (D) - (III)
. (A) - (II). (B) - (I). (C) - (IV). (D) - (II)
(A) - V). (B) - (I). (C) - (II). (D) - (II)

fag B2 —

-

Options :

68019124841. 1
68019124842. 2
68019124843.3

68019124844. 4

Question Number : 37 Question Id : 6801916338 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Children with Special Needs can be categorised as

(A). Physical

(B). Sensory

(C). Developmental

(D). Cognitive

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (B) and (A) only

4. (A). (B). (C) and (D).

o T

Options :

68019124845. 1
68019124846. 2
68019124847.3
68019124848. 4

Question Number : 37 Question Id : 6801916338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

[=IY 3aRgadl dId =l DI 5 YHR avildd [Hdl ol bl & -

A RIS
B. Jadl|

c. f[apraEas
D. G3HTIHS

- feu e fdedl O 9 9el S I |

1. $ad (A). (B) 3R (C)
2.9ad (A). (B) 3R (D)
3. %dd (B) 3R (A)

4. (A). (B). (C) 3R (D).

Options :

68019124845. 1
68019124846. 2
68019124847.3

68019124848. 4



Question Number : 38 Question Id : 6801916339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are the main factors responsible for poor educational status among scheduled tribe
children

(A). Textbooks do not have local specific examples from their local environment

(B). Weak in English

(C).Formal education system being alien, 1s not adjusted to their socio-economic and cultural
needs.

(D). Weak in reasoning

Choose the correct answer from the options given below:

(A) and (B) only.

.(A), (B) and (D) only.
3.(A), and (C)
4.(C)

C) and (D) only.

i
2

Options :

68019124849. 1
68019124850. 2
68019124851. 3

68019124852. 4

Question Number : 38 Question Id : 6801916339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA Sl o sl Bt W LAfge Rl & e Fafaied 7o oRe [HeR §

A. UTSIGR® | H 30 Y AIdIaRvl & W ARy Serev 76l 8

B. 35l § SHSR _

C. SRS 218 JomTe! i3 §H & BRU S-0! G- 3Mfi® 3R TReid®
HTTHAI B IET TRl 8

D. T 1 gaardl

1 feu e fadedl & § 981 SR |

1. %ad (A) 3R (B)
2.%ad (A), (B) 3R (D)
3.%ad (A) AR (C)
4.%ad (C) 3R (D)

Options :

68019124849. 1
68019124850. 2
68019124851. 3

68019124852. 4

Question Number : 39 Question Id : 6801916340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[(Book/Theory proposed/Characteristic, etc.)] (Author/Thinker/Name of Theory, etc.)
(A} |Loco motor Impairment (I} |Disability of bones, joint or muscles
(B) |Learning Disability (IT) |Impaired cognitive functioning
(C) |Attention Deficit Disorder {IIT)|Impaired cognitive functioning and deficit
(D} |Mental Retardation (TV)|An imperfect ability to spell

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (II1), (D) - (IV)
2. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
3. (A) - (D). (B) - (IV). (C) - (II). (D) - (I1T)
4. (A) - (IID). (B) - (IV). (C) - (1), (D) - (II)

g —

Options :

68019124853. 1



68019124854. 2
68019124855. 3

68019124856. 4

Question Number : 39 Question Id : 6801916340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forQ ¥ GEl-1 & FUgE-I

A 1 I
(=T e Rrgaatares, oy s/ Rere feia 19, onfe)
(A) |t Hrex v M [ef&ar, Sret ar afgufRral &t sremd
(B) | HETH w1k (ID) (ST BIEHOME H e
(C) | o & Bl [dER ()| ST ® BRI 5 HadT 3R $H
(D) |[9F® Heal (Tv)| @t @t 3o &
1l fau e fosedi & 9 98l SR I

1. (A)-(I).(B) - (IT). (C) - (IIT). (D) - (IV)
2.(A) - (I). (B) - (I). (C) - (). (D) - (IV)
3.(A)-(I).(B) - (IV).(C) - (II). (D) - (III)
4. (A) - (II). (B) - (IV), (C) - (D). (D) - (II)

Options :

68019124853. 1
68019124854. 2
68019124855. 3

68019124856. 4

Question Number : 40 Question Id : 6801916341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Women’s Education 1s affected by:

(A).Prevailing biases in the content

(B). Lack of motivation for education among females
(C).Structural inadequacies in delivery systems

(D). Conflicting Familial factors

Choose the correct answer from the options given below:

-(A). (B). (C) Only
.(B). (C).(D) Only
-(A). (C). (D) Only
4.(C). (D). (A) Only

Ia =

L]

Options :

68019124857. 1
68019124858. 2
68019124859. 3
68019124860. 4

Question Number : 40 Question Id : 6801916341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

it e ywifad gidi &

A. ureg Yt H gatusi §

B. *aal ¥ fRren & fofu g1dd &1 41

c. faazor yonferal # Sa-rds soaitaand
D. IR farIel uikaiiie dR&

- feu e fdedl O 9 9el S I |

1. &dd (A), (B). (C)
2. %dd (B). (C). (D)

3. %dd (A), (C). (D)
4.$ad (C), (D). (A)

Options :

68019124857. 1
68019124858. 2
68019124859. 3

68019124860. 4



Question Number : 41 Question Id : 6801916342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are gender stereotypes?

(A). Boys are weak in Fine art,

(B).Boys are courageous.

(C).Gurls are weak 1 mathemectics

(D).Girls are good in household chores

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (B). (C) and (D) only.
3.{A), (B). (C) and (D).
4. (A). (C) and (D) only:.

Options:

68019124861. 1
68019124862. 2
68019124863. 3
68019124864. 4

Question Number : 41 Question Id : 6801916342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FaffEd ¥ I oSy g@ius ©

A. TSP dferd Hell & HHOR Bl 8.

B. WS gl §Id B

c. Tsfargi nfurg favg § ek gidt &
D. Tisfhal Br & Sl T 38t gldl &

- feu e fdedl O 9 9el S I |

1. $ad (A). (B) 3R (D)
2. %4dd (B). (C) AR (D)
3. (A). (B). (C) 3R (D).

4.%dd (A). (C) 3R (D)

Options :




68019124861. 1
68019124862. 2
68019124863. 3

68019124864. 4

Question Number : 42 Question Id : 6801916343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are District Primary Education Programme objectives
(A).Reducing gender and social groups gap to less than 5 percent

(B).To provide access to primary education to all children

(C).To provide access to education to all children at the middle stage

(D). Reducing primary dropout to less than 10 percent

Choose the correcr answer from the options given below:

.(B). (C) and (D) only.
. (A). (B) and (D) only.
. (A). (B). (C) only.
4. (A). (C) .(D) only.

o =

Taa

Options :

68019124865. 1
68019124866. 2
68019124867. 3

68019124868. 4

Question Number : 42 Question Id : 6801916343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefead 5 @ oF 2 e urufie Rer sdeg & Sexg B2

A. OISR SR qHEIP Y961 & diF SiaR DI 5 Ui J & Sl
B. Y4 =i &1 WU & v =1

C. gl a=1 B = WY [R0e1 vaH S0

D. WP SIT3T3E DI 10 Wa=d I HH HIAT

A feu e fosedl § 9 gl SuR I |

1. &ad (B). (C) 3R (D)
2.ad (A). (B) 3R (D)
3.9ad (A). (B) 3R (C)
4.%dd (A). (C) 3R (D)

Options :

68019124865. 1
68019124866. 2
68019124867. 3

68019124868. 4

Question Number : 43 Question Id : 6801916344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I wath List IT

LISTI LISTII
Pedagogical & Curricular Structure Age Group
(A) [Preparatory (D [Ages 6-8
(B) |Secondary (II) |Ages 11-14
{(C) |Foundational (IIT)| Ages 8-11
(D) |Middle (TWV)|Ages14-18

Choose the correct answer from the options given below:

1. (A) - ). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3.(A) - (). (B) - (IV). (C) - (I). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :
68019124869. 1

68019124870. 2



68019124871. 3

68019124872. 4

Question Number : 43 Question Id : 6801916344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fErem ¥ i1 & 91y FEl-11

e 1 g 11
R&fre ofR wrea=af ®R= sy ad
(A) [dTR @ (g 6T s Ty
(B) [Aremfa® (ID) {31 11-14
(C) |3MemRyd (IID)| 31T 8-11
(D) |7 (V)| 311 14-18
- feu U fdsedl & 9§ el SR I |

L. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3. (A) - (I, (B) - (IV). (C) - (I). (D) - (I)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019124869. 1
68019124870. 2
68019124871.3

68019124872. 4

Question Number : 44 Question Id : 6801916345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Denial of education to children and youth with disabilities results i their alienation from access
fo

(A) Employment

(B).Vocational training.

(C).Upward social mobility

(D).Income Generation.

Choose the eorrect answer from the options given below:

Jand (C
Yand (D
)
)

only.
only.

™ B

Options :

68019124873. 1
68019124874. 2
68019124875. 3

68019124876. 4

Question Number : 44 Question Id : 6801916345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o=l SiR gatsfl @ fiem ¥ afeid 33 & URuTHwEEY 3P q
CRUIGH IR

AR

B. AGUIAS Hiieu

C. gHIS TR H GHRIAS TRaa
D. 319 g

el feU U ool 0 € 95l SR |

Options :
68019124873. 1
68019124874. 2

68019124875. 3



68019124876. 4

Question Number : 45 Question Id : 6801916346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Universal Declaration of Human Rights enviseges that Primary education (classes I-V)
should be

1. Territorial
2. Regional

3. Universal
4. Continental

Options :

68019124877. 1
68019124878. 2
68019124879. 3
68019124880. 4

Question Number : 45 Question Id : 6801916346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHAIYSRI B 1d HITHe 9o Wb e (@a 1-v) B Tafid @3l 5 b 34
HEEIIHY

1. WIS T2
2. §41g
3. g
4. TRTGIU
Options :
68019124877. 1
68019124878. 2
68019124879. 3

68019124880. 4



Question Number : 46 Question Id : 6801916347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Opration Blackboard scheme consists of mainly three components

(A). Providing at least One smart classrooms in each primary schoool

(B). Providing teaching-learning equipment to all primary schools brought under the scheme.
(C).Providing at least two classrooms in each primary school

(D). Provision of an additional teacher to single teacher primary schools

Choose the correct answer from the options given below:

(A). (
(A). (
(B). (
(C). (

and (C) only.

(A). (B) and (C

: B) and (D) only.
C) and (D) only.
D) and (A) only.

3. (B).
4. (C),
Options:

68019124881. 1
68019124882. 2
68019124883.3

68019124884. 4

Question Number : 46 Question Id : 6801916347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SRR SHaTS Trorl § 58 9 Y i T §

A T® MU f9ead § o8 S 31 U6 HIE $4THeH Bl

B. o1 & Sfdid A 0 g e e &1 e arfenTs Suau Suas SRl
C. Yl WU [Geey § &F U &9 & HEI0 Y Bl

D. Uahd [R1& Wi faemedl | ta sfaRdd Rigie & wauH

Tdl feu U fodedl H € 98l S|
1.9qd (A), (B) 3R (C)
2. Hqd (4), (B) IR (D)
3. %949 (B), (C) IR (D)
4.%ad (C), (D) 3R (A)
Options :

68019124881. 1



68019124882. 2
68019124883. 3

68019124884. 4

Question Number : 47 Question Id : 6801916348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sarva Shiksha Abhiyan (SSA) programme aims to provide useful and relevant elementary
education to all children in

. 0 to 14 age group
.5 to 15 age group
. 3 to 18 age group
. 5to 25 age group

I =

o N )

Options :

68019124885. 1
68019124886. 2
68019124887. 3

68019124888. 4

Question Number : 47 Question Id : 6801916348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 e fEH (TYU9Y) SHHH & 3ed Ju a1 @ J9U 3R
it TR el ieH S B

1.69 14 A
25915 A
33918 AT
4,525 AT

Options :

68019124885. 1

68019124886. 2



68019124887. 3
68019124888. 4

Question Number : 48 Question Id : 6801916349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The term Compulsory Education in Right To Education act means

. provide free elementary education to every chi
. provide free elementary education to every chu
. provide free elementary education to every chi
4. provide free elementary education to every chi

d of the age of 6 to 14 years.
d of the age of 3 to 15 years.
d of the age of 5 to 20 years

d of the age of 3 to 12 years.

|

(%]
i et Y et ] el

Options :

68019124889. 1
68019124890. 2
68019124891. 3

68019124892. 4

Question Number : 48 Question Id : 6801916349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e o1 YR iy aftfd sii-ard e o s g

69 14 TY DI 3 & YD 9= B H:R[ed URIYS R Haq HA1
39159 DI 3 & YD 9 B H:R[ew URIVS [RU& Haq HA1
59209 DI 3 & YD 9= B H:R[ed URIYS & HaH HA1
4.39 1299 DI 3 & YD 9= B H:R[ed URIYS R HaH HA1

Options :

|

L]

68019124889. 1
68019124890. 2
68019124891. 3

68019124892. 4



Question Number : 49 Question Id : 6801916350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(A) School management m Free and compulsory quality
VA committes *“ |education upto elementary level
-+ |86th Constitutional . s ;
(B) R (II) |Decentralization of education
~ |Operation e ®
(©) Blackboard (III}|Prepare school development plan
o L improving the human and physical
)N Sl Lo {I\)|resources available in the primary
amendment e

Choose the correcr answer from the options given below:

. (A) - (ID). (B) - (ITT). (C) - (IV). (D) - (I)
(A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (ITT). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

|

e T

Options:

68019124893. 1
68019124894. 2
68019124895. 3

68019124896. 4

Question Number : 49 Question Id : 6801916350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



B B3 i1 3R 11
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®) Sﬁggﬁ% S | 1) e ot Rrpiepen
(©) |[TREA &ddrs | |3y fae™ OieH1 JaR &l
e feu v faeedl o 9 gel 3w I

L. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
2.(A) - (I). (B) - (I). (C) - (I1I). (D) - (IV)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (I)
4. (A) - (). (B) - AV). (C) - (I). (D) - (II)

(D)

Options :

68019124893. 1
68019124894. 2
68019124895. 3

68019124896. 4

Question Number : 50 Question Id : 6801916351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in the historical chronology

(A). Woods Dispatch

(B). Wardha Scheme

(C).Hunter commission

(D). Sadler commission

Choose the correct answer from the options given below:

1. (D). (B). (A). (C).
2. (A), (B). (C). (D).
3.(B). (A). (D). (C).
4. (A), (C). (D). (B).

Options :
68019124897. 1

68019124898. 2



68019124899. 3
68019124900. 4

Question Number : 50 Question Id : 6801916351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
UfdeT® BIahH H oIaffyd ®%

A g9 fead
B. gef} oM
C. §ex SN
D. ISR AT

- feu T fodedl & 9§ 95l SR A |

.(D). (B). (A). (C).
.(A). (B). (C). (D).
.(B). (A). (D). (C).
.(A). (C). (D). (B).

| S

e o

Options:

68019124897. 1
68019124898. 2
68019124899. 3

68019124900. 4

Question Number : 51 Question Id : 6801916352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Female enrolment in tertiary level Science and technology (S&T) is enrolment
(World Education Report. 1995).

1. Higher than Male
2. Equal to Male

3. Less than Male

4. Neglible

Options :



68019124901. 1
68019124902. 2
68019124903. 3

68019124904. 4

Question Number : 51 Question Id : 6801916352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fay fRrem RAte. 1995 & oA qellae R o fagr SR et (@@ G &) & 4
IRIGE |

1 oS ot
2. T & RN
3. R U HH
4. 110G

Options:

68019124901. 1
68019124902. 2
68019124903. 3

68019124904. 4

Question Number : 52 Question Id : 6801916353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

“Micro Planning” 1s defined as planning of education at

1. Central level

2. Regional level
3. State level

4. Cognative level

Options:
68019124905. 1

68019124906. 2



68019124907. 3
68019124908. 4

Question Number : 52 Question Id : 6801916353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TSI ST Bl TR 11 & e & &0 H o far mar g

1. DRI TR

2. & R

3 U TR R
4. GIHATHD &R

Options :

68019124905. 1
68019124906. 2
68019124907. 3

68019124908. 4

Question Number : 53 Question Id : 6801916354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The principle of diversity provides the foundation

. to accept disability as part of political variation.

. to accept disability as part of cultural variation
3. to accept disability as part of economic variation.
4. to accept disability as part of human variation.

b =

Options:

680191249009. 1
68019124910. 2
68019124911.3
68019124912. 4



Question Number : 53 Question Id : 6801916354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafaerdr &1 Rigid & U SR e SaT 8

1. famanTal &l AsHITdD [9Fd] & e & =9 8 WIHR B
2. [dpaiTd &1 Hikepfde fafdud & 68 & U & WiHR S
3. e firear & few & =9 | famanmar & ieR &
4. famaiar &t A9 ufvadd & R & 9§ WaR S

Options :

68019124909. 1
68019124910. 2
68019124911. 3

68019124912. 4

Question Number : 54 Question Id : 6801916355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in hisorical chronology

(A). Sarva Shiksha Abhiyan

(B). University Education Commision

(C). Rammurt: committee

(D). Chattopadhyaya Commission

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
.(B). (D). (C). (A).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

- =

e s

Options :

68019124913. 1
68019124914. 2
68019124915. 3

68019124916. 4



Question Number : 54 Question Id : 6801916355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafead o Uidesie oradbd § ogafiyd o

A. 4 farem siftme

B. faufgemer e smam
C. JrAHfq It

D. FEIUTEAT 3TN

1 feu e fosedl § 9 el S T |

.(A). (B). (C). (D).
.(B). (D). (C). (A).
.(B). (A). (D). (C).
(). (B). (D). (A).

fas b2 —

e

Options:

68019124913. 1
68019124914. 2
68019124915. 3
68019124916. 4

Question Number : 55 Question Id : 6801916356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1

LISTI LISTII
(Book/Theory proposed/Characteristic, etc.)|(Author/Thinker/Name of Theory, etc.)|
{A) |Principles of Psychology (I} [William James
{B) |Thought and Language (I) |IL.S. Vygotsky
{C) | The Structure of Human Abilities (IIT}|P.E. Vernon
(D} |Science and Human Behavior (IV)|B.E. Skinner

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I). (B) - (IID), (C) - (I). (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III), (B) - (IV). (C) - (I). (D) - (II)

Options :

68019124917. 1
68019124918. 2
68019124919. 3

68019124920. 4

Question Number : 55 Question Id : 6801916356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fAre 3 -1 o 1Y gEl-In
T 1 11
(T /wTed R aiETa s, errﬁ.f)(ﬁ'@aﬁaw%a 1 7, 313
(A) |Tifge SiE aR@ds] @ |faferas sivg
(B) |uie T8 tiaw (ID) [Ter. T8, gt
©) & THR i gga= el (LD |4t §. g1
(D) |515Y US ggHA faefder @V)[al. Tm. R
A feu e fosed B 9 981 S I |

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019124917. 1
68019124918. 2
68019124919. 3

68019124920. 4

Question Number : 56 Question Id : 6801916357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following 1s considered as a Behavioral Psychologist -

. John Dewey

. B.F. Skinner
3. William James
4. Jean Piaget

| R

Options :

68019124921. 1
68019124922. 2
68019124923.3

68019124924. 4

Question Number : 56 Question Id : 6801916357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafad § O fod aeRaKc! ga1eg=e O oidl © -

Sl Sl
dlL T, R
fafergm o=y
4. SiiA fogrs

Options:

fag B2 —

68019124921.1
68019124922. 2

68019124923. 3



68019124924. 4

Question Number : 57 Question Id : 6801916358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the correct statements

(A). Pedagogy 1z a Science of teaching

(B). Pedagogy is an Art of teaching

(C). Pedagogy 1s a craft of teaching

(D). Pedagogy 1s both Art and Science of teaching

1. A. C and D Only
2. A.B and D Only
3.A.B and C Only
4. B. C and D Only

Options :

68019124925. 1
68019124926. 2
68019124927. 3

68019124928. 4

Question Number : 57 Question Id : 6801916358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el HyH ol

(A). FRrememe Rem s fag= e

(B). TR a1 &1 Her g

(C). Rrermamed fgor fReg g

(D). Frememea e ot &ar 3R e &1 fag= SH 8

1. $Bdd A, C AR D
2. HAAA. B IHRD
3. HaAA. B IR C
4. $adAB. C AR D

Options :

68019124925. 1



68019124926. 2
68019124927. 3

68019124928. 4

Question Number : 58 Question Id : 6801916359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Functions of Educational Management are

1. Planning. Organising. Controlling. Dirercting
2. Teaching. Lesson Plan, Field Trip

. Cooprative Teaching

4. Autocratic Management

L]

Options :

68019124929. 1
68019124930. 2
68019124931. 3
68019124932. 4

Question Number : 58 Question Id : 6801916359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AP VA F PR -

1. e, e, fRgEu. BdeE
2. AU, 9IS gioHl. Bics g
3. JegnTTH® [RT&m

4. TR udeH

Options :

68019124929. 1
68019124930. 2
68019124931. 3

68019124932. 4



Question Number : 59 Question Id : 6801916360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ms. Radhika wants to know how much time her students spend off-task each day. To determine
this. she carefully watches the students in class. keeping a record of off-task behavior. By doing
s0. which research approach has she used?

1. Case study

2. Survey

3. Laboratory experiment
4. Naturalistic observation

Options:

68019124933. 1
68019124934. 2
68019124935. 3

68019124936. 4

Question Number : 59 Question Id : 6801916360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 YT AT 3Rl B [ 31b BT Weliep [ -2 H b1 9 faamd 81 39
S & 10, 98 el H BT 1 21 § S ¢, HIp-CR P RS Wl 6| 35 [
Sty ARy @1 SwE fa &

1. Pl

2. A&

3. JENTRITH H § 31 i
4. TIPfde qeiie

Options:

68019124933. 1
68019124934. 2
68019124935. 3

68019124936. 4



Question Number : 60 Question Id : 6801916361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI
{(Book/Theory

proposed/Characteristic, etc.)

LISTII
{Author/Thinker/Name of Theory, etc.)

changes in the child’s body and

e s @ underlie brain development

changes in the child’s thinking,

(B) |Cognitive Processes (II)]. :
= intelligence, and language.

changes in the child’s relationships
(C) |Socioemotional Processes  [(III)|with other
people

changes in the child’s adaptation,

2 V) behaviour and personality.

Choose the correct answer from the options given below:

(A) - (D). (B) - (ID), (C) - (IV), (D) - (IIT)
(A)-(I). (B) - (III). (C) - (II). (D) - (IV)
- (A) - (D). (B) - (I1). (C) - (TII). (D) - (IV)
(A) = (IIT). (B) - (IV). (C) - (I). (D) - (II)

| R

P

Options :

68019124937. 1
68019124938. 2
68019124939. 3

68019124940. 4

Question Number : 60 Question Id : 6801916361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e Y gEl1 SR G

L N

(T aad Rigiaaiares, sfe) (@ [ane g #17M, i)
(A) |[SiTa® ufgpan O [7= & R F uitads IR 9T faorg
(B) [4FHTES Wil (1) [ B Ui, g AR 4191 H GRacH
(C) |FTHIToE- HIaTHS Uihand (I)|3rg Tl & 1Y 5= & Gaef § uiaa
(D) | e uferamy (IV)|&= & 3 Pe, R AR Hfddd o ulad-|
i fgu e fopedi O 8 w8t IR |

L. (A) - (I). (B) - (II). (C) - (IV). (D) - (II)

2.(A)-(I). (B) - (III). (C) - (I). ( ) (IV)

3. (A)- (D). (B) - (1I). (C) - (IIT). (D) - (IV)

4. (A) - (II). (B) - (IV). (C) - (. (D) - (1)
Options :

68019124937. 1
68019124938. 2
68019124939. 3
68019124940. 4

Question Number : 61 Question Id : 6801916362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Piaget argued that children progress through a series of cogmitive development stages. In
contrast. Skinner stressed that individuals simply learn more as time goes on. Which
developmental issue is highlighted in their disagreement?

1. Continuty and discontinuity

2. Early and later experience

3. Nature and nurture

4. Biological and socioemotional development

Options :

68019124941. 1
68019124942, 2
68019124943. 3

68019124944. 4



Question Number : 61 Question Id : 6801916362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

figTol = e T o ol ST faTe <RUl &1 U e & HeH 4 Wiid d 5
=0 fomRId, f&FR A SR 39 Fel b o19-or T aiddl o1l 5, @ 3R $ife e &
I0! SRTgHId 1 6 AT & 5, &1 S9N {1 T 7

1, TR 3R afRaRan

2. URIY® 3R §1E BT 37Ha

3. Upid 3R UIyu]

4. O 3R TS YIS A

Options :

68019124941. 1
68019124942, 2
68019124943. 3
68019124944, 4

Question Number : 62 Question Id : 6801916363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Piagetian Stages in order-

(A). Sensorimotor Stage

(B). Preoperational Stage

(C). Conerete Operational Stage

(D). Formal Operational Stage

Choose the correct answer from the options given below:

1. (A). (B). (D). (C).
2. (A), (B). (C). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

e s

Options :

68019124945. 1
68019124946. 2
68019124947. 3
68019124948. 4



Question Number : 62 Question Id : 6801916363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSt gRT faU T faP e & =RU &1 B H H S0aiRyd &1 -

A, Jad[-ATa® TRO]

B. WISOe¥Hd W

C. Tohle HTIRYET 0]

D. BIHd TR TR0l
1 feu e fosedl § 9 el S T |
.(A). (B). (D). (C).
.(A). (B). (C). (D).

AB), (A), (D), (C)-
A(C). (B). (D). (A).

fas b2 —

e

Options:

68019124945. 1
68019124946. 2
68019124947.3
68019124948. 4

Question Number : 63 Question Id : 6801916364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Book/Theory (Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
(A) |Stages of Development () |Lev Vygotsky
(B) |Programmed Learning (II) | Jean Piaget
(C) |Classical Conditioning (IIT)|B.F. Skinner
(D) | £one of proximal development {(IV){Ivan Pavlov

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (I). (C) - (II1). (D) - (IV)
2.(A)-(1V),(B)-{I), (C) - (11), (D) - (I)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IID). (C) - (IV). (D) - (I)

Options :

68019124949. 1
68019124950. 2
68019124951. 3
68019124952. 4

Question Number : 63 Question Id : 6801916364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[EQ < gET-1 o 1Y JEi-II
= i
(T /wTed Rgia A, siid)|cres fars el @1 99, 3fe)
(A) |faemE & T (1) |39 aEFTeDT
(B) |waraiaa sifermg O EIEEIE]
(C) [T d DRI (1) |1, U, Y
(D) [F1F 31T Hiffggd Saaude (IV)|3aM Uraad
4 f3U T fae el & 9 9el SR TH|

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
3.(A)-(1). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IT). (B) - (II1). (C) - AV). (D) - (I)

Options :



68019124949. 1
68019124950. 2
68019124951. 3

68019124952. 4

Question Number : 64 Question Id : 6801916365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Jean PIaget , at ..cmmmnamseiisiiin thinking is more abstract, 1dealistic. and
logical.

1. Formal operational stage
2. Sensorimotor stage

3. Preoperational Stage

4. Conerete operational

Options :

68019124953. 1
68019124954. 2
68019124955. 3
68019124956. 4

Question Number : 64 Question Id : 6801916365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S TS & 3FER. T AR ¥ 3gd, snexiarel 3k
I il |

1. BHd AR

2. Ga4[-I1d® TR

3. diefeHa T

4. Bpic AT

Options :

68019124953. 1

68019124954. 2



68019124955. 3
68019124956. 4

Question Number : 65 Question Id : 6801916366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Scaffolding 1s an important concept in

1. Piaget’s theory.
2. Bruner’s theory.
3. Kohler’s theory.
. Vygotsky's theory.

ey

Options :

68019124957. 1
68019124958. 2
68019124959. 3

68019124960. 4

Question Number : 65 Question Id : 6801916366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T W PIeST U He@qul SaURUN g |

1. fqars &1 figia

2 g

3. Plodd D [Heald

4. AITIED] B1 Fgid

Options :

68019124957. 1
68019124958. 2
68019124959. 3
68019124960. 4



Question Number : 66 Question Id : 6801916367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Naresh is in fourth grade. He is tall for hus age. but not very mature. He is extremely sensitive to
any kind of criticism constructive or not. He cries when somebody teases him, which happens
often. Naresh often elicits teasing from his peers by engaging in it himself. Which peer status is
most likely for Naresh?

1. controversial
2. neglected

3. popular

4. rejected

Options :

68019124961. 1
68019124962. 2
68019124963. 3

68019124964. 4

Question Number : 66 Question Id : 6801916367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T et el T Ugal 51 a8 S0 S & [odd ¥ Tl 6, Wi 9gd URU® el 5| 78 [dl
i TRE B TWIES AT & Ui 98¢ YdeNid ¢l e $ls 39 Ferig dl ag Adr g,
SO GBI & | R SR ST T 3§ Fagr- H g 2N 1a 34 SurR &l g1 X

& for fopg Fufay oot e aiferes a2

1. faarfed
2. JUerd

3. o
4. Srlipd

Options :

68019124961. 1
68019124962. 2
68019124963. 3

68019124964. 4



Question Number : 67 Question Id : 6801916368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Golden rules for guidance 1s/are as under-

(A). Guidance as continuous process

(B). Guidance 1s needbased

(C).Guidance 1s gender inclusive

(D).Guidance 1s a service

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.

L]

Options:

68019124965. 1
68019124966. 2
68019124967. 3
68019124968. 4

Question Number : 67 Question Id : 6801916368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

arfeyF & T Oy FTASI UeR © -

A. OFiE Y 9dd ufehar &

B. ANIGYH ATaRgadt H4iRd &
C. ANTEYH SieY guaei §

D. AFIG Y U6 Jal g

- feu e fdedl O 9 9el S I |

1. $ad (A). (B) 3R (C)
2. %dd (A). (B) 3R (D)
3. (A). (B). (C) 3R (D).

4.%4dd (B). (C) 3R (D)

Options :



68019124965. 1
68019124966. 2
68019124967. 3

68019124968. 4

Question Number : 68 Question Id : 6801916369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of clinical counselling in order
(A). Analysis

(B).Synthesis

(C). Diagnosis

(D).Prognosis

(E) Treatment

(F) Follow-up

Choose the correct answer from the options given below:

_(A). (B). (C). (D).(E). (F)
_(A). (B). (D). (E). (F). (C).
(B). (A). (D). (C). (E). (F)
4. (C). (B). (D). (A).(F). (E)

a3 =

L]

Options :

68019124969. 1
68019124970. 2
68019124971. 3

68019124972. 4

Question Number : 68 Question Id : 6801916369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Fer-e wel & FEfeRad =l & wa § suafiud &3
A, fageiyo
B. LdHU
c. FEm
D. YaiHH
E. 3UdR
F. 3{dd| pRdlg
A feu e fosedl § 9 gl SuR I |
1. (A). (B). (C). (D)-(E). (F)
2. (A). (B). (D). (E). (F). (C).

3.(B). (A). (D). (C). (E). (F)
4.(C). (B). (D). (A).(F). (E)

i

Options:

68019124969. 1
68019124970. 2
68019124971.3
68019124972. 4

Question Number : 69 Question Id : 6801916370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Williamson's five categories of counselling in sequence-
(A).Forcing conformity

(B). Changing the Environment

(C).Environment Selection

(D). Learning needed skills

(E) Changing Attitudes

Choose the correct answer from the options given below:

.(A). (B). (D).(C) (B)
. (A). (B). (C). (D).(E)
.(E). (B). (A). (D), (C).
4.(C), (B). (D). (A).(E)

| S

Taa

Options :

68019124973. 1
68019124974. 2
68019124975. 3



68019124976. 4

Question Number : 69 Question Id : 6801916370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faferaee o1 Wl &t Uig 410! B 3rIchHuI A H Haleyd P -

g qd aﬁwqg CRE]

c;.tmfawauq
D. HGIH B SR

E. E0Iv g5
3 feu e fd el O 9§ 981 S I |

.(A). (B). (D).(C)(E)
.(A). (B). (C). (D).(E)
_(E). (B). (A). (D). (C).
4.(C). (B). (D). (A).(E)

fag Bd —

Options :

68019124973. 1
68019124974. 2
68019124975. 3

68019124976. 4

Question Number : 70 Question Id : 6801916371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not the part of vocational guidance-

1. Self -realisation

2. Human relationship

. economic efficiency
4. Power establishment

L]

Options :

68019124977. 1



68019124978. 2
68019124979. 3

68019124980. 4

Question Number : 70 Question Id : 6801916371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & § o1 surgunie arfe= o e el & -

. 3TH-IY
 OrdY Tae

B DEA NG|
4. I RITGAT

Options:

fag B2 —

68019124977.1
68019124978. 2
68019124979. 3

68019124980. 4

Question Number : 71 Question Id : 6801916372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Social Development Theory 1s given by

1. Kohler

2. Piaget

3. Vygotsky

4, Skinner
Options :
68019124981. 1
68019124982. 2
68019124983. 3

68019124984. 4



Question Number : 71 Question Id : 6801916372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT [de™ Rgid foa- giduriad faar

Options :

68019124981. 1
68019124982. 2
68019124983. 3

68019124984. 4

Question Number : 72 Question Id : 6801916373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

74th constitutional Amandment 1s related to

1. Centralization of Education
2. Umversalisation of Education
3. Decentralization of Education
4. Spritualisation of Education

Options:

68019124985. 1
68019124986. 2
68019124987. 3
68019124988. 4

Question Number : 72 Question Id : 6801916373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124985. 1
68019124986. 2
68019124987. 3

68019124988. 4

Question Number : 73 Question Id : 6801916374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" whatever 15 recently learnt by a child 1s retaned by him." This statement follows which Law of
Learning.

1. Law of Partial Activity
2. Law of Primacy

3. Law of Recency

4. Law of Analogy

Options :

68019124989. 1
68019124990. 2
68019124991. 3

68019124992. 4

Question Number : 73 Question Id : 6801916374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124989. 1
68019124990. 2
68019124991. 3

68019124992. 4

Question Number : 74 Question Id : 6801916375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Practice makes a women perfect'. This statement 1s related to which theory of learning?

1. Learning by Insight

2. Learning by Trial and Error

3. Learning by Conditioning

4. Learning by imitation and observation

Options :

68019124993. 1
68019124994, 2
68019124995. 3
68019124996. 4

Question Number : 74 Question Id : 6801916375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124993. 1
68019124994, 2
68019124995. 3

68019124996. 4

Question Number : 75 Question Id : 6801916376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Academic Bank of Credit has been introduced by

1. Kothari Commission

2. Umiversity Education Commission
. National Education Policy 2020

4. Hunter Commission

L]

Options :

68019124997. 1
68019124998. 2
68019124999. 3

68019125000. 4

Question Number : 75 Question Id : 6801916376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019124997. 1
68019124998. 2
68019124999. 3

68019125000. 4



